Quiz Review Lessons 2.1, 2.2 & 2.4 KQ‘T

Practice 2= i ] Relations. and. Functions
O 1. Let function r be defined by r(x) = 3x>-5

a. Find r(7) b. Find r(-b) c. Find r(c)

r{"l}:\‘(Z r(-$):= 70 (23S

2. Determine whether or not the graph represents a function.
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3. Consider the relation below: T I oN. N
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4. Consider The relafion below: i
{(1,3).(1,-3)(2,6).(2,-6).(3.9).(3.-9)} N A
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Find the slope of each line.

1. Sx-y=-7 ;M:G[ 2.through (4, -1) and (-2, -3)
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Write in standard form an equation of the line with the given slope through the
given point.

5. slope=—i;g_,\21) 6. slope = 3; (-1, 3)
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Write in point-siope form the equation of the line through each pair of points.

+2 ‘% e = N
7. (-3,-2)and (1, 6) b 341 @ L =2 (x ‘)
(++43 ° Y €2 = a (x +3)
6raph each equation.
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8. 8x-4y=16 _zgl =T 7 9. y= -2x-2




Find }ﬁe.._g!_ope and the intercepts of each i€
10. 3x-4y=12 . 11, AX)-= ~X+7

Write a slope intercept equation for each line. Then graph the line.

12. through (-1, 3) and parallel to y= 2x+ 1
—
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13. through (2, 2) and perpendlcular toy=z —=x+2 o . = N
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Write the equation in standard form.
14 y=2x - 1 15. y=4x+2

16. Find the slope of a line perpendicular to 2x -5y = 3.
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Write an equation’for each line in slope interceft form. 10
O 1.y -intercept of -5, % -int fff c_)/'fif,-,;,=§
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For each situation, find a linear model@pe intercept for@md use it to make

a prediction.

3. After 5 months the number of subscribers to a newspaper was 5730. After 7
months the number of subscribers to the newspaper was 6022. How many
@ subscribers to the newspaper will there be after 10 months?
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ent tickets are sold for $4.50 each ==

4. At a basketball game,

a. Write an equation that models the income y from the sale of x student

tickets. Y = 4.5o%
b. How many student tickets must be sold to have §1125 in student ticket
sales? V:-’,:\ SO X
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